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QUESTION 1

Which of the following is Endpoint alarm? 

A. Locked secure vault 

B. Firewalled status 

C. Network interface error 

D. Temperature 

E. Memory paging 

Correct Answer: B 

 

QUESTION 2

-- Exhibit 
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-- Exhibit -Refer to the exhibit. What does the screenshot represent? (Select 2) 

A. The policy TestPolicy1 was created and was implemented on all the Steelhead appliance on the Global group. 

B. The policy TestPolicy1 was created and was not implemented on all the Steelhead appliances on the Global group. 

C. The TestPolicy1 will be implemented on the Global group Steelhead appliances after a Push operation. 

D. The TestPolicy1 will not be implemented on the Global group Steelhead appliances. There is a configuration error. 

Correct Answer: BC 

 

QUESTION 3

When two or more Steelhead appliances are configured with Connection Forwarding in such environments as WCCP
clustering, what feature will allow remaining Steelhead appliances to continue to provide optimization for new
connections when one unit fails? 

A. In-Path Neighbor FailurE. Allow 

B. WCCP neighbor active 

C. Minimum cluster count set to 1 

D. Maximum cluster count set to 2 

E. This cannot be done on Steelhead appliances 

Correct Answer: A 

 

QUESTION 4

Three Steelhead appliances SH1, SH2, and SH3 are deployed as shown in the exhibit. They are all using the default
auto-discovery rule for optimization. However, CLIENT99 experiences a failure when attempting to access either the
HTTP or FTP service on SERVER88. CLIENT99 was able to access these services prior to the deployment of the three
Steelhead appliances. 

Which of the following choices would most likely correct the problem? 
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A. Remove SH2. Use only SH1 and SH3. 

B. Remove SH1. Use only SH2 and SH3. 

C. Turn on Connection Forwarding between SH1 and SH2 

D. Turn on Connection Forwarding between SH1 and SH3 

E. Turn on Connection Forwarding between SH2 and SH3 

Correct Answer: C 

 

QUESTION 5

The Interceptor appliance cluster can support how many optimized connections? 

A. 50,000 

B. 100,000 

C. 200,000 

D. More than 200,000 

Correct Answer: D 
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